Calculate Linux - Bug # 660: DzN"D D+b°D° D¢ NED, B-D°D¢ NfNeb°Dy cl-console

Status: Closed Priority: Normal

Author: b %D’ D b¥:bY: D"DY:NEPYNDoPuD2E Bdtegory: Calculate Utilities

Created: 07/21/2014 Assignee:

Updated: 09/03/2014 Due date:

Subject: DzN"D, DxbP° D¢ NED, B-D°D¢ NfNeb°Py cl-console

Description: D3 NeD¥%DTD°D»Duby:D NZ, PYv:bu DYDYD3Nf N+D°b°D-D°N,NE PD¥.DD D°
D¢ D¥%NeD2D D»D¥%NNE, N,.D°. NEPUD DDY:s D¢ P¥%P»NED-DNfNZNNE D°D¥:DY2ND¥:D»NENZ
DP°D°D»NEDD
# cl-console
Dby NfD ' D°D»D¥%NNE D¢ D¥D D°D»NZN+D,N,NEN«Ne: <urlopen error [Errno -2] Name or service not
known>
DPE D'NENFD3DYDDYs D¢ DYD»NED-DY:D2D°NDub»Ne DYND, D+D°D° N,D°PD°Ne (BD¥2D¥%: Ne DY:Du
D2 DN fNENDU Dub3D¥s Neb NeN,DubV4N<):
DzN"D b+b°p°: <urlopen error [Errmo 1] _ssl.c:507: error:14094410:SSL
routines:SSL3 _READ_BYTES:sslv3 alert handshake failure>

History

07/21/2014 05:17 pm - Mikhail Hiretsky
@cl-core@ NeDUNED2DUNE D-D°D¢ Nf N%oDpDY2?

09/03/2014 07:25 pm - Alexander Tratsevskiy

- Status changed from New to Closed
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